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Key Elements for Designing and Calculation
of F NSPT-LOCKS

NSPT-LOCKS

Installation without stopping back
locating rings

Installation with stopping back
locating rings

ka=1.0

ka=0.8

1. Determine max torque and max axial load

Mmax = 30000 H . K(N m)

Fmax =F.K
π.n

H--Transmission power KW
n--Rotational speed  r/min
F--nominal axial force N
K--coefficient needed

Used coefficient sheet for K

No shock load, transmitting with little inertia 1.5- 2.5

Slight shock load,transmitting with middle inertia 2.0- 4.0

Big shock load, transmitting with heavy inertia 3.0- 5.0

2. Calculate synthetic load and transmitted torque
Mmax Mh

Mmax--Required transmitted torque Nm
Fmax--Required transmitted axial force N
Mh--synthetic transmitted torque Nm
d--Transmission shaft diameter mm
Mt--NSPT LOCK rated transmitted torque Nm

d .Fmax2

Mt     Mh can be used
Mt<Mh need bigger type of NSPT lock or to be install by two
NSPT locks or more together

3. Calculation for the hub diameter

Da     D Ο~b+Ka.Ph
Ο~b - Ka.Ph

Da--outside diameter of hub  mm
D--inside diameter of hub  mm
Ph--suface pressures on hub Mpa
Ο~b--tensile strength of material
Ka--It should be 0.6 for single NSPT lock, it will be 0.8 when two
NSPT locks or more are installed together




